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Question 1- The average speed of lion is 7/9th of the average speed of cat. The 

average speed of cat is 80% more than average speed of man. Find the distance 

covered by lion in 4 hours if man covers 1500 km in 6000 minutes.

प्रश्न 1- शेर की औसत गतत तिल्ली की औसत गतत का 7/9 ह।ै तिल्ली की औसत गतत मनषु्य की 

औसत गतत से 80% अतिक ह।ै यति आिमी 6000 तमनट में 1500 तकमी की िरूी तय करता ह,ै तो शेर 

द्वारा 4 घंटे में तय की गई िरूी ज्ञात कीतिए।

A. 21 KM/HR

B. 33 KM/HR

C. 31 KM/HR

D. 44 KM/HR

E. NONE OF THESE
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The given bar graph shows the total Maths(blue label) and Physics(Orange label) 

sold in different year.

तिया गया िार ग्राफ अलग-अलग वर्षों में िेचे गए कुल गतित (नीला लेिल) और भौततकी (नारंगी 

लेिल) को िशााता ह।ै
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A. 100

B. 0

C. 200

D. 20

E. NONE OF THESE

Question 2- Find the difference between the total sale in 2000 and 2008.

प्रश्न 2- 2000 और 2008 में कुल तिक्री के िीच अंतर ज्ञात कीतिए
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A. 11 : 5

B. 13 : 5

C. 32 : 5

D. 21 : 5

E. NONE OF THESE

Question 3- Find the ratio between the total sale in 2004 and 2012.

प्रश्न 3- 2004 और 2012 में कुल तिक्री के िीच अनपुात ज्ञात कीतिए।
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A. 1130

B. 1230

C. 1760

D. 1770

E. NONE OF THESE

Question 4- Find the average sale in all year.

प्रश्न 4- सभी वर्षों में औसत तवक्रय ज्ञात कीतिए।
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A. 44.44%

B. 33.33%

C. 55.55%

D. 88.88%

E. NONE OF THESE

Question 5- Sale in 2008 is what percent of total sale in 2016.

प्रश्न 5- 2008 में हईु तिक्री, वर्षा 2016 में हईु कुल तिक्री का तकतना प्रततशत ह?ै
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A. 60.5

B. 59.5

C. 62

D. 61

E. NONE OF THESE

Question 6- The average marks of 60 students was recorded 140. It is found that 

marks of two students was recorded as 172 and 142 in place of 136 and 148. Find 

the correct average.

प्रश्न 6- 60 छात्रों के औसत अंक 140 ििा तकए गए। यह पाया गया ह ैतक िो छात्रों के अंक 136 और 

148 के स्थान पर 172 और 142 ििा तकए गए थे। सही औसत ज्ञात कीतिए।
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A. 11 : 00 PM

B. 12 : 00 PM

C. 11 : 40 AM

D. 12 : 40 PM

E. 13 : 20 PM

Question 7- Pipe P and Q can fill a tank in 36 hours and 48 hours. If the pipes are 

opened for 1 hour each alternatively and P start filling the tank. When 5/6 part is 

filled than pipe with less efficiency has been closed. Find the time when tank 

completely full if pipe P opened at 8 am.

प्रश्न 7- पाइप P और Q एक टंकी को 36 घंटे और 48 घंटे में भर सकते हैं। यति पाइप को वैकतल्पक रूप 

से 1 घंटे के तलए खोला िाता ह ैऔर P टैंक को भरना शरुू करता ह।ै िि 5/6 भाग भर िाता ह ैतो कम 

िक्षता वाले पाइप को िंि कर तिया िाता ह।ै यति पाइप P सिुह 8 ििे खलुता ह,ै तो टैंक परूी तरह से 

भरने का समय ज्ञात कीतिए।
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A. 55.55% less

B. 55.55% more

C. 44.44% less

D. 33.33% more

E. None of these

Question 8- P sells an article to Q costing him Rs 1200 at 50% profit. If the cost of 

P becomes cost price of Q and Q sells the article at Rs 2000 then how much 

percent less/more profit Q is getting now.

प्रश्न 8- P 50% लाभ पर 1200 रुपये की लागत से Q को एक वस्तु िेचता ह।ै यति P की लागत Q का 

क्रय मलू्य िन िाती ह ैऔर Q वस्तु को 2000 रुपये में िेचता ह ैतो Q को अि तकतना प्रततशत 

कम/अतिक लाभ प्राप्त हो रहा ह?ै
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A. 4 : 1

B. 4 : 13

C. 4 : 15

D. 5 : 11

E. None of these

Question 9- Train P can cross a checkpoint in 80 seconds and Train Q can cross the 

same checkpoint in 150 sec. if the ratio of the speed of train P and Q is 3 : 4 then 

find ratio of there length .

प्रश्न 9- टे्रन P एक चौकी को 80 सेकंड में पार कर सकती ह ैऔर टे्रन Q उसी चौकी को 150 सेकंड में 

पार कर सकती ह।ै यति टे्रन P और Q की गतत का अनपुात 3: 4 ह,ै तो वहां की लंिाई का अनपुात ज्ञात 

कीतिये।
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A. 11/24

B. 13/24

C. 14/25

D. 11/23

E. None of these

Question 10- P can do a piece of work in 15 days and Q can do the same work in 

24 days. They start work together but P left after 5 days. What fraction of work is 

remaining.

प्रश्न 10- P एक काया को 15 तिनों में कर सकता ह ैऔर Q उसी काया को 24 तिनों में कर सकता ह।ै वे 

एक साथ काया करना शरुू करते हैं लेतकन P ने 5 तिनों के िाि काम छोड़ तिया। काम का तकतना अंश 

शेर्ष ह।ै
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A. 11/24

B. 13/24

C. 14/25

D. 11/23

E. None of these

Question 11- The speed of a boat in still water is 20 km/hr. If the speed of current is 

5 km/hr then find total time taken by the boat to travel 150 km from point A to B in 

downstream and B to A in upstream.

प्रश्न 11- तस्थर िल में एक नाव की चाल 20 तकमी/घंटा ह।ै यति िारा की गतत 5 तकमी/घंटा ह,ै तो नाव 

द्वारा िारा के अनकूुल तिंि ुA से B 150 तकमी तक और िारा के प्रततकूल B से A तक तकमी की िरूी 

तय करने में नाव द्वारा तलया गया कुल समय ज्ञात कीतिए।
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A. Rs 8282

B. Rs 5582

C. Rs 9282

D. Rs 4582

E. None of these

Question 12- A certain sum of money seen to increase 80% in 8 years with simple 

interest. What will be the compound interest on a sum of Rs 20,000 with same rate 

of interest for 4 years.

प्रश्न 12- सािारि ब्याि के साथ 8 वर्षों में एक तनतित रातश में 80% की वतृि िेखी गई ह।ै 4 वर्षों के 

तलए समान ब्याि िर के साथ 20,000 रुपये की रातश पर चक्रवतृि ब्याि क्या होगा?
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A. 258/1907

B. 258/2907

C. 2208/2321

D. 171/1907

E. None of these

Question 13- A bag contains 5 apple, 6 oranges and 8 watermelon. Three fruits are 

picked up randomly find the probability that all are apple or orange or watermelon.

प्रश्न 13- एक िैग में 5 सेि, 6 संतरे और 8 तरिूि हैं। तीन फलों को िेतरतीि ढंग से उठाया िाता ह,ै 

संभावना ह ैतक सभी सेि या नारंगी या तरिूि हैं।
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A. 14 km

B. 20 km

C. 9 km

D. 21 km

E. None of these

Question 14- A car takes 44 hours with speed 54 km/hr on a circular track. Find the 

radius of circular track. 

प्रश्न 14- एक कार वतृ्ताकार पटरी पर 54 तकमी/घंटा की चाल से 44 घंटे लेती ह।ै वतृ्ताकार पथ की 

तत्रज्या ज्ञात कीतिए।
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A. 40 years

B. 50 years

C. 60 years

D. 70 years

E. None of these

Question 15- The ratio between the age of P and Q is ratio of first two prime 

number. After 10 years this ratio becomes ratio between the third and fourth prime 

number. Find the present age of Q. 

प्रश्न 15- P और Q की आय ुका अनपुात पहली िो अभाज्य संख्याओ ंका अनपुात ह।ै 10 वर्षों के िाि 

यह अनपुात तीसरी और चौथी अभाज्य संख्या के िीच का अनपुात िन िाता ह।ै Q की वतामान आय ु

ज्ञात कीतिए।
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